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I Main derivation of nx’21 70w qo3 (following 0”27 Mav on v. 1 - in box above)
a  qo3 - from np’ (via v. 3)
i challenge: could be deduced from n»ayn nnR Pap via1p
1 block: nn2 disrupts the vp
2 defense: n™12yn NnR restores 1’p >nonetheless, we need verse
3 Reason: essential derivation is flawed, since n»ayn nnR isn’t a model for Pw11p as she exits via 903
4 Note: justification given for both min nxr¥» and np» » -
(a) If: we only had min nr¥» — 8”10 she could initiate pw1T'p and give him the money
(b) And if: we only had np 73, we would think that the money goes to her (even if a ny)
b axna - from ndy (v. 1)
i challenge: could be deduced from nna> via v’p
1 block: n1ayn nnR disrupts the v'p
2 Defense: nn1 restores 1'p >nonetheless, we need verse
3 Reason: essential derivation is flawed, since nna» isn’t a model for pw1Tp as she is already npipr to the o2
¢ 70w - could be brought via 1’p from qo3, which cannot end a marriage
i block: qu3 has power in re: redeeming w1pn and 2wyn (v. 4) which 70w doesn’t have
ii  Derivation: from juxtaposition of nrPm...nR¥" (v. 2) - just as 70V generates divorce, it generates PWVITP
1 Challenge: if so, let qua be a vehicle for divorce
2 Answerl (73K): the same vehicle cannot be used for something positive as for something negative
(a) Challenge: then how can we infer 90w from pw112?
(b) Answer: each 70w is different as its wording is unique
(c) Counter: each coin is unique
(d) Answer: the minting is common to all
3  Answer2 (837):v.1 stipulates that divorce can only occur via 790 — and nnom nr®n extends 0w to PVITP
(a) Challenge: perhaps invert the reading — and qo3 is now extended to divorce and 7vw limited to v3
(b) Answer: since the context is Pw113, it’s reasonable that the text is isolating this form of pwy17
(i) Note: »"n™ uses an for another NWIT (:R3 V7 - that one may write on many other things)
(if) Answer: he infers our ruling from mn»12 990 — only a writ can separate them
1. note: 1121 use that phrase to teach rule about utter excision (no permanent conditions on v1)
2. 77717 infers both — one from n13, other from form — mn»>3 (131171 disregard this distinction)
d  summary: we seem to need all 3 to be written — why can’t we at least infer 1 from the other 2
i however: if 70w was omitted, we would reason that nx’21 qu3 have pleasure/benefit — and not include 10w
ii  and if: "R’2 were omitted, we would reason that 70w1 o3 are common vehicles for pp are included — not nx’a
iii And if: qu3 were omitted, we would reason that qo is never used against her will (03 -70w, ma» — nR*1)
II  ®nn 27’s inclusion of nown for PWITP PIp viaV'p
a infers from the common denominator of NR’23 7VW ,q03 which are n1p elsewhere and work here — same with namn
i blocks (¥37): mwn enumerates 3, not 4; in addition, nan is only effective after pwvITp
it Defense (7aN):
1  enumeration may only list those that are written in " n (not derived)
2 xnn"infers from qoa (can’t create pPr1w7 after qoa); non, which completes marriage, is valid for pwiTp
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